BER | H% FEANG [HERIENBIZIERAAE
k% JEAEE
EEIHINREHEE
B TRk 265 48 18 ~ & Rk 274 38318

B E # H AERE BIERE B
;R [AFREERIRA 17,275,518 17,354,002 -78,484
= A T X EBEFRFIAG) 17,275,518 17,354,002 -78,484
PR |BEXEERX 17,232,048 17,955,879 ~723,831
= |H A XESEEFHNZHETQ 17,232,048 17,955,879 -723,831
" T X IEEEEEIE EEE(3)=(1)-(2) 43470 -601,877 645,347
NERRIRA 0 0 0
FIRAFIRA 15,833,387 14,972,404 860,983
HEEIA 0 0 0
EEEIA 0 0 0
TR R IR A 0 0 0
BIIXEERA 141,973,342 131,522,938 10,450,404
s | IR |REREHBESIA 0 0 0
i | A |EFMEIRA 150,000 108,719 41,281
= MIRA 1,258,062 2,705,804 -1,447,742
£ EAETEESHBERA 0 0 0
& FIHERA 4,663,270 3,434,000 1,229,270
3 EEMEEEREL AR 0 0 0
4z GEIEE TN 13,504,680 1,534,202 11,970,478
X BB EFFHIRAE @) 177,382,741 154,278,067 23,104,674
f? ANEEXE 118,457,914 111,043,383 7,414,531
A EHBEXZH 21,251,059 19,536,125 1,714,934
% BEEIH 19,284,214 19,158,812 125,402
m Bm{EENE 6,883,100 7,355,263 -472,163
IR HERE 0 0 0
FIEEZ:IN 6,592,225 6,853,330 -261,105
RALEEFEF R HEG) 172,468,512 163,946,913 8,521,599
B EE IR Z5E(6)=(4)-(5) 4914229 -9,668,846 14,583,075
EAEFRMEEIA 0 0 0
SZIMAEERLEIRA 5,208 4,891 317
Iz SEHEAIEBRATIRA 23,654,100 24,106,076 -451,976
= |3 RERXRS)RBEAEIIRA 46,109,683 49,734,189 -3,624,506
£ BEEMITS5EANE 0 0 0
& G R it b 0 0 0
2 EEFHMRAGD) 69,768,991 73,845,156 -4,076,165
AN BAEFEZH 1,482,596 1,510,731 -28,135
I RERXR EBEAEZH 46,109,683 53,689,303 -7,579,620
53 % BEHMEIHTENE 0 0 0
g) H SEHEARBASSH 23,654,100 20,150,962 3,503,138
A A% E1E 0 0 0
& EEHimiE 0 0 0
EEF T NS A0 71,246,379 75,350,996 -4,104,617
XTI EEE(9)=(7)-(8) -1,477,388 -1,505,840 28,452
BE U ZZE(10)=(3)+(6)+(9) 3,480,311 -11,776,563 15,256,874
SR EEEHBEIA 0 0 0
I MR EHEFMEIA 0 0 0
4% A EE & EST AN 0 0 0
Al EE#NEEESBILS IR 0 0 0
Iy BRRAETG D 0 0 0
53 HAEHAZE 0 0 0
D |X |BEEEEFEIE-0NE 0 110,593 -110,593
B |t | eSS SIS 0 0 0
HERIZHET(2) 0 110,593 -110,593
AR ZEE(13)=(11)-(12) 0 -110,593 110,593
SHEEINZZ58(140)=(10)+(13) 3,480,311 -11,887,156 15,367,467
& R E I ZEE5(15) 76,418,271 88,305,427 -11,887,156
2 SEIRBRBIEBIRZ ZE0(16)=(14)+(15) 79,898,582 76,418,271 3,480,311
g EARSHEZE1T) 0 0 0
e HEAEHHAZEA8) 0 0 0
% FOMOFEST S ENERZE(19) 0 0 0
= T OIEWEEIIN L = EE 1 NEE(19) 0 0 0
48 Z Dt DFEIL £ FEILEE(20) 0 0 0
) Z D DR HEE ENIR S Z 58 iE /) 5E(20) 0 0 0
il RERAEHE BN Z = 88(21)=(16)+(17)~(18)+(19)—(20) 79,898,582 76,418,271 3,480,311




